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Unit 4 Bundle 11 Test Review

PART 1. PYTHAGOREAN THEOREM
For each of the following, find the value of ‘x’ in simplest radical form.
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PART 2. CONVERSE OF THE PYTHAGOREAN THEOREM

Tell whether a triangle with sides of given lengths can be formed, and is so, classify is

as acute, right, or obtuse.

7. Can a triangle be formed?

@or NO

Classification: ocute

Side lengths: 9,9, and 3

Q4+ Sl 8l
qQ0 » 8l

8. Can a triangle be formed?

@or NO

Classification: Tt gh'l'

Side lengths: 8, 84/3, 16

9. Can a triangle be formed?

@or NO

Classification:
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Side lengths: 11,11, 15
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10.Can a triangle be formed?

YES or

Classification:

Side lengths: 8, 14, 22

2+I4=22 not bigger than 27

PART 3. 45°-45°-90° & 30°-60°-90° TRIANGLES
For each of the following, find the indicated lengths.
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